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4. a. Calculate the tension in the rope when this 50. N box is being dragged up the
hill at a constant speed of 5.0 m/s if there is a 10. N frictional force actmg}on it.
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b. what is the coefficient of kinetic friction between these surfaces? ‘
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5. Calculate how fast this .‘pox will accelerate down the hill if the hill is frictionless.
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6. Calculate the force of friction acting on the box if it now accelerates down the incline at a rate of 0.67 m/s.
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7. As the angle 8 increases, what happens to the . . .
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